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Then we check

D an isconvergent
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Then we have |Ʃ a :n |=|Ʃ ajtarj+ l fm nom ,
D, MEN

j =m
n 亠

(hy☆) ≤ Ʃ 2; 一就
j=m

丄
≤ 的十 Zn+2

< 前
Similarily , we have

<|Ʃ
"

ai | =|azmy+鼠ai <+六 、 箭
i=2M-1

「 赢洲ai |=| G2m++dzt+
赢

ai<÷+新坑二部2My

1 赢洲 ail = 1 Gnt 1+
赢

aik 前 +坑 C箭

EE79
, 雪 N >Ʃ

,
NEN

,
St . EM>M >N ,

M
,
nEN

we have lnaiK元 < E
,
hence aailuiscmvergent ,

Fm③
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Since{
看

ailnconverges, fort E 70, 雪 NEN
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⇒ 言 bn is onvergent ,



9 . 2

( 1 )

品)nt2) ≥ ) 15mn =2)

→ Ʃ m 嘴方扣 m → 5)
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Since RHS is divergent ,
wehavetn了my is

divergent .

d

舞瓷冷点弃加 Nz

by ratio tesf

we haved
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Since harmmic series is divergent ,
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③) e) Comsiderfuntimf (x)=hxwhichis s 0 Idecreasing
on [e, 4∞ )
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